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1 (a) (i) Outline the role of homeostasis in the body.
Higher scoring response
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.' Specmcatlon reference B1.1

= Marks are awarded for maintenance of an internal equilibrium and two identified factors
= that are kept constant.

: The learner included more information than was needed to gain full marks, temperature,
5 glucose and fluid balance. (2) 5

Lower scoring response
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: The learner has identified equilibrium, and one example, temperature so has not gained
* full marks.
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(b) Explain the role of the kidney in osmoregulation.

Higher scoring response
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- Specification reference B1.7

‘ Rewardable material includes maintenance of fluid balance to prevent dehydration.

Lower scoring response
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= The learner has basically described the kidney’s role in removing toxins, not
osmoregulatlon No rewardable material.

-------------------------------------------------------------------------------------------------

(c) State the role of the ureter,

Higher scoring response
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SpeC|f|cat|on reference B10.2
: The role is correctly identified. '
Lower scoring response
; The learner has recognised that the ureter is part of the renal system but has not
- identified the role correctly.



2 (a) Enzymes are proteins that catalyse reactions in the body.
Describe the roles of amylases and proteases in digestion.

Higher scoring response
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The learner has accurately described the role of amylases and proteases in digestion,
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: The learner has recognised that proteins are broken down to amino acids.
: The statement about amylases is too generic.
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(b) Describe the cause and effects of coeliac disease.

Higher scoring response
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= Specification reference B6.8
- The learner has demonstrated accurate knowledge and understanding, knowing it is an

= autoimmune disease caused by a reaction to gluten, and they have described symptoms
» accurately. They could have gone on to describe the effect the immune system has on
s the lining of the intestine in more detail to improve the answer. A level 3 answer. s

: The learner has recognised that coeliac disease is a disorder of the digestive system. :
: However, they have confused it with dairy intolerance. Unfortunately this means there is:

no rewardable material. .
¥
*

.
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3 (a) Explain the role of the spleen in the immune response.

Higher scoring response
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. Specification reference B9.3

= The learner has referred to white blood cell production, that then produce antibodies.

[ ]
= Although the spleen has a role in recycling red blood cells, this is not part of the immune
* response, so no rewardable material.
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(b) T cells and B cells are both white blood cells.
Compare the roles of T cells and B cells in the immune response.

Higher scoring response
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I Specification reference B9.4

: The learner has recognised that they are both involved in combating pathogens, that T -
= cells have a role in phagocytosis and B cells are involved in antibody production.

Lower scoring response
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= The learner has recognised that they are both cells in the blood, but the information :
: presented is inaccurate, no rewardable material.
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(c) Explain two symptoms of leukaemia.

Higher scoring response
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: Specification reference B9.6 :
* The rewardable material includes a pale skin due to a reduction in red blood cells and :
: tiredness due to the reduction in available oxygen (anaemic) .

Lower scoring response
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: The learner has described the effect of cancer treatments accurately, unfortunately that
=was not what is required by this question, so no rewardable material. :
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4 (a) (i) Outline the function of ribosomes.

Higher scoring response
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' Specification reference Al.1

: Rewardable material includes protein synthesis from amino acids. The learner has then :

: gone on to include a reason for protein production, which was not required by this :
: question. :
Lower scoring response
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The learner has identified that ribosomes make proteins but has not expanded this to  :
: gain the second mark available. :
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(b) {i) Explain how neurons are adapted to pass impulses effectively.
Higher scoring response
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: SpeC|f|cat|on reference A2.4 "-_
: The learner has demonstrated accurate knowledge and understanding.
: They have referred to the passage of impulses and the detailed structure of a neurone. :

: A level 3 answer, it could have been improved by closer reference to how the structures :
Ilnked to the effective passage of impulses. .

Lower scoring response
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The learner has referred to the role of neurones, however they have not explained how :
. they are adapted so no rewardable material.



(ii) Explain how the endocrine system transmits messages.

Higher scoring response
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s SpeC|f|cat|on reference B8

E The learner has explained that the endocrine system consists of ductless glands (empties :
: straight into the bloodstream), and the hormones travel around the body in the blood.

: They have failed continue their explanation to cover how the hormones ‘deliver’ their

* message when they reach the appropriate target organ. s

Lower scoring response
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¢ This learner has confused the endocrine system with the nervous system, not
= appreciating that both systems deliver messages in different ways. No rewardable
: material. '

‘
----------------------------------------------------------------------------------------------------- s®
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(c) Explain one symptom of multiple sclerosis.

Higher scoring response
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Specification reference B7.4
The learner has explained that the condition is caused by the damage to the myelin
sheath, which can no longer pass messages effectively. They have gone on to explain
the effect on mobility. The tingling sensation is a separate symptom so not rewardable.
Lower scoring response
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5 (a) () Identify the two chambers and the two blood vessels on the diagram of the
heart below.

Higher scoring response
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Specification reference B2.1

: The learner has correctly identified the structures of the heart.

.
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Lower scoring response
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(il) State two features specific to arteries.

Higher scoring response

Specification reference B2.2

: Rewardable material includes thick walls and muscular walls. The third point is incorrect. :

Lower scoring response
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E The term ‘highest’ is meaningless in this context, it is arguably the vena cava. Both the -

: vena cava and the aorta have the same blood flow, it is the volume and speed that differ :
* and it is not a feature. .

.
L]
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(b) Explain two long-term effects of hypertension,

Higher scoring response

‘f . . =}
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: The learner has identified the risk of stroke caused by a blood clot. The second :
: statement is too generic and not rewardable.
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= The learner has confused hypertension with other disorders and has not recognised that
: hypertension itself is symptomless. :

15
@ Pearson



(c) Describe how the cardiac cycle is controlled.

Higher scoring response
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i Specification reference B2.1

: The learner has described the control of the cardiac cycle accurately and included
: sustained coverage of the interrelationship with the nervous and endocrine systems.
: There is a chain of reasoning that demonstrates good organisation. A level three answer

*
----------------------------------------------------------------------------------------------------
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Lower scoring response
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-------------------------------------------------------------------------------------------------------

= The learner has described the structure of the heart and the cardiac cycle well. .
: However, they have not discussed the control of the system, so there is limited attempt
: to answer the question. A level 1 answer. .

-------------------------------------------------------------------------------------------------------



6 (a) () Define diagnostic testing.

Higher scoring response
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Specification reference A5.3

‘ An accurate definition.

The learner has reworded the question without either linking it to genetic disorders or
finding the cause of pre-existing symptoms.

(ii) Explain amniocentesis.

Higher scoring response
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: Specification reference A5.3

The learner has identified the removal of amniotic fluid with a needle to identify genetic
disorders. The could have gone on to explain that the identification would have to be
: done under a microscope or by DNA analysis
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Lower scoring response
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The learner has identified that it is used to check for chromosome disorders but has not
: explained how the test does that.

*

(iil) Explain two examples of congenital disorders.

Higher scoring response
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. Specification reference B11.4.3

= The learner has accurately identified two congenital disorders and gone on to explain

= them, including two expansions for each identification thus gaining full marks. There is
: some inaccuracy, particularly the incorrect identification of the cause of spina bifida but
. there is still enough rewardable material.
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Lower scoring response
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------------------------------------------------------------------------------------------------------

One congenital disorder has been identified and there is one expansion point. This is
Down’s syndrome caused by an extra chromosome, there is no more expansion.

PKU is an inherited disorder, not a congenital disorder so is not rewardable.

*
------------------------------------------------------------------------------------------------------
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. The learner has use an appropriate Punnett square, identified that the parents are

‘BTEC
(b) Two parents are carriers for the gene for PKU.

What is the probability of them having a child who suffers from PKU?
Show your working.
Higher scoring response
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.-" Specification reference A5.1 %

heterozygous and the gene for PKU is recessive. They have then gone on to identify that
only one of the potential genotypes will lead to a child having the phenotype of PKU.

: They show that the chance of 1 in 4 is a 25% probability. They have misidentified the

: homozygous dominant as a carrier, but here are enough accurate points in the rest of

+, the answer to justify full marks.



Lower scoring response

[ ] . .

= This learner has tried to remember the structure of a Punnett square, but has not

= accurately identified the genotype of the parents and has too many columns on the
= squares. This has resulted in an incorrect probability being calculated and no rewardable
: material. :
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7 To what extent do you think that chorionic villus sampling is a safe procedure?

Refer to the article in your answer.
Higher scoring response
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E Specification reference A5.3/C1.4

: The learner has demonstrated accurate and thorough knowledge and understanding of -
* the relevant information. There are linkages and a judgement made. The well-balanced :

: argument leads to a rationalised conclusion and there is logical reasoning and clarity. A :
: level three answer.
*
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Lower scoring response
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[ ]

- There are isolated elements of knowledge with a basic description of the information.

- The arguments are generic assertions, e.g. ‘it increases the rate of abortions’. There is
. nhot an adequate answer to the question, level 1.

---------------------------------------------------------------------------------------------------------
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